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Third Practice Exam

For #1-6 write the entire word “True” or the entire word “False”.

1) eaf = a*  False. aol=a

2) S0 false. Zy=a*t

3.) log,(2w) = log,(2) +log,(w) True

4.) log,(2*) =log,(2)* False . loa (z¥)= wle (%)

5.) log, (£) = log, () 10g,(w) e 03,1( 2, = ]oﬂa(%)—,ojd(w)
6) (a°) = "™ Fylse. (ax)ﬁz o ¢
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7.) Write 592857990526 a5 4 rational number in standard form.
5 928-900-26 57. 9 5

8.) Write (45)% as a rational number in standard form.

FHD - gy

9.) Write 1, 000, 0003 as a rational number in standard form.

(éf/ 59, 10*= 10,000

_3
~2 as a rational number in standard form.

R NS

erte

<‘z‘

rk £16



11.) Write log;,(10,000) as a rational number in standard form.
T
/ 03 ol (IO ) =4
12.) Write logﬂﬁ) as a rational number in standard form.

/Oﬂs(gl%ﬁ:'%/o

13.) What is the greatest integer that is less than log,(50) ?
4*<50<4*
= logy(4%)< 1034503 < }oy(ﬁ)
= 2< )03*(50)< 3

14.) Solve for z if * =5

%= )Oje (5>

15.) Solve for z if log,(z) = —3
(Write your answer as a rational number in standard form.)

16.) Solve for z if 4e*3 =8

x-3 g
& -7,;:=2

x-3 = )O‘je@)
X = 1032(23"'3



17.) Solve for z if log.(x +2) —7 =9

}Oﬂe Cx+ 2) =9+ /=)
16
HrL=E
R 14
4.5 ¢
18.) Solve for z if ¥+ = &

2% B+l
e e =Y

Ex el

™=t
Dxr| = IOja(Lf)
Cx= 1'03,1(%\)*3

iLje,é,LQ.l

19.) Solve for z if log,(2? + z) — 2 = log, ()

1056 [Pz )- 103&)& =9
log, (252 =2
]oge (x+1) =2

2
X¥l= £

2ol -



20.) Find a root of 2® + 2% — z @
Factors of 2 ave | ~1,2,-2.

/

-2 is a Yoot since

(P a)o2 < ~Boeze2 oc

21.) Completely factor 4z — 422 — 5 + 3 (Hint: —1 is a root.)

-l |4 -4 -5 = Di5cr§mhznam- of #x2-8x+3
is 8)°~ 4()(3)=¢4-48=)¢

-4 3 -3 16 20, so thete are two
4 - 20 foots of 4x?-Bx+3. They
: ave
”(‘8)+W]}—? _ {+u
e 200 8
7 i
(x+1)  (4x2-8x+3) 8
/N - 3
(#) (1-3(7_) Cf"'/z) and -4 oy
=z = 5
g8 8" 2
T]r\e(e;ore_,

4r2-8z+3 = 4(x-3)(x-15)




22.) Graph p(z) = —=3(z + 1)(z — 2)(z — 2)(z? + 7)
(> x- m‘fefceF't's -1,2
() p) is neqative bdween -l and 2 sice P(o)~—3(o+f)(o-z)@—2)(o’=|-7)<o

() F‘ﬂ- r\jh-r aha [eg-i- US‘ j(aFL\ Iooks llke 'H'le )eadtnj -!arm (2.) 3{5
23.) Graph

() vext. asym. * 2 ( (2 +3)

BT 2z +2)(z“ +3
() x-nt s =2 )= e @ =2) 2(42)(1%43) _
) T(J(-) is nejq‘l'w“e betveen 2 and -2 snce r(l)' 5(] ?.)(l 2)

) Fa.c nj\d' anJ\ lepf o£ jf‘qr\n ]ooks HCQ, 2.;(3
s)x

24.) Graph e* and label its y-intercept.
25.) Graph log,(z) and label its z-intercept.

26.) Graph e® — 1 and label its 2- and y-intercepts (if there are any).
SL\\S;TQ& Aown ‘9/ i
-mf e’~l=z|-1=0

x-int: %120 =9 o*z| D x=0
27.) Graph log.(x + 2) and label its z- and y-intercepts (if there are any).

locje(x\ shifted e_C‘I'L 2,
yeint loge (0+2) = loge(Z)

Zz= l'ﬂ‘l‘ loae()“‘?_) ‘o ﬁ 14’2 6 _I ._-_—_-) X = ‘_.Z :,-’
28.) Graph f :(—1,2] — R where f(z) = —2z.

f-0= -2(-1)=
§(2)=-1(2) =-4
29.) Graph g : [-2,1) — R where g(z) = —z2.

jeel= ~(ays-4
j(‘)'—' -(1)%= -



